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BRENRAAOKBHEICET IHENTEEOERRKR
(FHEZHIBREL T554)

HAL : PEHE (1-C0,)

BUEE (%)

| JEREE | g mug ) . FHERORR
PRy = | HEHE () FE : MR (o) (EER:FEBEHE(d), TE :BIEEBOMNEEEEHE (e) )
OFEE -
SERk 284 B AFNTER HFN3FE S FAEE 4 TOs4ERE SFN6HERE A FNTHEE
(2016) (2025) (2021) (2022) (2023) (2024) (2025)
TRLF— . 4, 495 3, 823 3, 873 3, 824
ELIRCO, ’ 5.0 19.2 18.2 19.2 100. 0 100. 0
FTRNLF—
FLJRCO, 0.0 0.0 0.0 0.0 0.0 0.0
& 0.0 0.0 0.0 0.0 0.0 0.0
R =R 0.0 0.0 0.0 0.0 0.0 0.0
Zmih
IBEZhR AT A 0.0 0.0 0.0 0.0 0.0 0.0
BESEH = i, 765 4, 495 3, 823 3, 873 3, 824
EHEH B AT ' 5.0 19.2 18.2 19.2 100. 0 100.0
BEZR A A
A2 LBEHE
EE T
H & 3 4E

% HIEEE(c) = ((a)-(b)) /(a) X 100

(FEAMZHIBKBEL T558)

FHEMABEEICAW-EE |

HIB B Dt FEVESFE L (e) = ((a) - (d)) / (a) X 100
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BB X ’Fﬁ“ oSt s B (LB FMAER(d), T :BRBONEEEEL (o) )
e a TEY : HIREE (c)
Y284 BE A FNTAEBE A FN34E B S nAFE S ssERE S6HEE SENTHHE
(2016) (2025) (2021) (2022) (2023) (2024) (2025)
TRILF—
ELJRCO, 0.0 0.0 0.0 0.0 0.0 0.0
FE AN F—
ELIRCO, 0.0 0.0 0.0 0.0 0.0 0.0
il 0.0 0.0 0.0 0.0 0.0 0.0
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TP — RO
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ERIHT D
ERSEA]

% BIEE(c) = ((a)-(b)) /(a) X100

Bl E O EEHEFEF L (e)=((a)-(d)) /(a) X100
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